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=  esa fjDr LFkku esa gksxk\    

What will be in the blank space ? 

(a) 
8

7

−     (b)     
21
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   (c)     

7

8−

   (d)    
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21
 

2222---- 11 dk oxZ gksxk\     
Square of 11 will be ?    
(a)    121           (b)     212       (c)     112        (d)    211 

 

3- 
8

27
   dk ?ku ewy gksxk \ 

Cube root of 
8

27
 is ?  

(a) 
2

3
  (b)     

4

9
       (c)     

8

3
        (d)    

2

9
 

4- ¼100½0 dk la[;kRed eku gksxk\ 
Numerical value of  ¼100½0 will be ?  
(a) 10  (b)     100       (c)     0        (d)    1 
    

5555---- xy  ,d la[;k gSA blds fy, dkSu dFku lgh gS\    
xy is a number. For this which option is correct ?    
(a) x + y  (b)     10x + y         (c)     x + 10y          (d)    x X y   
    

6- 3x   rFkk    6x2  ds fy, lgh fodYi pqusa & 
The correct option for 3x and 6x2 is -     
(a) nks leku in gSa (Two equal terms) 
(b) nksuksa vleku in gSa (Both are unequal terms) 
(c)     nksuksa cgqin gSa  (Both are polynomials) 

(d)    nksuksa vpj gSa (Both are constant)    
    

7777---- x4 - 16    dk xq.ku[k.M gksxk &    
Factor of  x4 - 16    will be -     

(a) (x+4)(x-4)                (b) (x+2)(x-2)    
(c)     (x2+4)(x+2)(x-2)      (d) (x+2)(x-2)(x+2)(x-2)    

8- 2x + 3 = 5    dk gy D;k gksxk\ 
Solution of  2x + 3 = 5 will be ? 
(a) 1  (b)     2       (c)     5        (d)    4 
    

9999---- (x-5)(x-5) ds fy, dkSu fodYi lgh ugha gS&    
Which option is not correct for (x-5)(x-5)-     
(a)  (x-5)2       (b) (x+5)2        (c) x2-10x+25    (d) (x+y)2-20xy 

 

10- 28x2y ÷ 7xy  dk eku gksxk&  
The value of  28x2y ÷ 7xy  will be -  
(a) 4x      (b) 4xy      (c) 4x2y      (d) 4xy2 
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11- la[;k 40 dks nks Hkkxksa esa bl Ádkj ck¡Vk x;k gS fd igyh la[;k 

dk 
1

5
 nwljh la[;k ds 

1

3
  Hkkx ds cjkcj gSA vxj igyh la[;k x 

gks] rks fuEu esa ls dkSu&lk lehdj.k lgh gksxk& 

40 is divided in two parts such that 
1

5

th of first number is equal to the 
1

3

rd of 

the second number. If first number is x. Then the equation for this is - 

(a) 
40

5 3

x x−
=  (b)     

1 1

5 3
x x=       (c)    

1 40

5 3
x x=  (d)  

40 1

5 3
x x=  

 
12- fdlh jkf’k ij feJ/ku ¼A½ Kkr djus dk lw= gS 

(1 )
100

nR
A P= +  

blesa ladsr ‘n’ D;k gS\ 
(a) le;  (b)  o"kZ dh la[;k  (c)  C;kt la;ksftr gksus dh la[;k 
(d) v/kZ okÆ"kd C;kt dh la[;k  

In the formula   (1 )
100

nR
A P= +    the ‘n’ is stand for ? 

(a) Time  (b) Number of year  (c) Number of interest to be joined 
(d)  Number of half yearly interest 
 

13- ,d dkj 40 fdeh0 Áfr ?kaVk dh pky ls ,d fuf’pr nwjh r; 
djus esa 3 ?kaVk le; yxkrh gSA ;fn dkj dh pky 60 fdeh0 
Áfr ?kaVk gks rks mruh gh nwjh r; djus esa fdruk le; yxsxk\  
(a) 2 ?kaVk   (b)   3 ?kaVk  (c) 2 feuV  (d) 3 feuV 
In three hours, a car is travelled a certain distance at the speed of 40 Km per 

hour. Calculate the time taken by the car of the distance if the speed is 60 Km 

per hour ? 

(a) 2 hours (b) 3 hours (c) 2 minutes      (d) 3 minutes  
 

14- nh xÃ vkÑfr gS ,d & 
The figure is - 
                           D                      
 
                A            0   C 
  

                            B 

(a) lekUrj prqHkqZt  (b)   leyEc prqHkqZt  (c)  irax  
(c) le prqHkqZt 
 
(a) Parallelogram  (b) Trapezium     (c)  Kite         (d)  Even quadrilateral  

 
15- bl vkÑfr esa fdrus Qyd gSa\ 

Find the total number of faces in this figure ? 
(a) 3     (b) 4      (c) 5      (d) 6 

 
 

16- fn, x, jQ vkÑfr ds eki ds vuqlkj ,d fo|kFkÊ f=Hkqt cukus 
dh dksf’k’k djrk gS] crkb, buesa dkSu&lk dFku lgh gS\ 
Here rough figure of a triangle is given. A student tries to construct a triangle 

of measurement given in the figure, which option is correct ? 
 
 



 

 
                                                                         A 

(a) dk ÁR;sd dks.k 600 gksxk 
(b) dk ÁR;sd dks.k 900 gksxk  3 cm                   4 cm 
(c) ugha cusxk 
(d) cusxk 
                                                            B               8 cm           C 
 
(a) every angle of the     is 600 
(b) every angle of the     is 900 
(c) will not be made of       
(d) will be        

 
17- ,d oxkZdkj eSnku esa fp=kuqlkj o`Ùkkdkj {ks= cuk gSA vxj 

o`Ùkkdkj {ks= dh f=T;k r gks rks Nk;kafdr Hkkx dk {ks=Qy gksxk& 
In a square field, there is a circular area as given in the figure. If the radius of 

the circular area is ‘r’. the area of Shaded portion is - 
 
(a) 4r2 - πr2         (b) πr2 - 4r2 

(c) 4r2 + πr2       (d) a, b, c  rhuksa (All a, b, c) 
 
                                      0  r 

18- ,d ?kukHkkdkj ckWDl dh ya0= l] pkS0= b rFkk                      
Å¡0= h gks rks bl ckWDl dk vk;ru gksxk&  
If l = length  b = breadth and h = height of a box, then the volume of the box 

is-  
(a) lb + bh + hl                  (b) 2(lb+bh+hl) 

(c) lbh                                (d) 2(l+b+h) 
 

19-     ] ;g gS & 
 
(a) oxZ&fpg~u    (b) oxZ&varjky   (c) feyku fpg~u 
(d) feyku&oxZ 
    ] is a - 

(a) class mark  (b) class interval  (c) Tally mark       (d) Tally class 
 

20- fdlh xzkQ ¼vkys[k½ esa ,d js[kk ewy fcUnq ls xqtjrh gSA js[kk dk 
ewy fcUnq ij funsZ’kkad gksxk& 
In a graph there is a line passed passes through origin of the graph. The 

coordinates of the line at the origin is - 
(a) (y, y)    (b) (x, x)      (c) (0, 0)      
(e) funsZ’kkad ugha gksxk (coordinate will not be) 
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